NUMERACY
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The clocks show the time Cindy started her
walk and the time she finished.

START FINISH

For how long did Cindy walk?

25 min 30 min 40 min 45 min
O O O O

What's the missing number in the pattern?

15, 30, 45, 75, 90, 105.

In which year did Mary turn 187

started finished got
born school school  married first child
1958 1963 1975 1985 1989

l ] ] ] |
MARY'S TIMELINE

1968 1973 1976 1978
\ O O O O
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Enter the correct answer

65-21=

+100 +100
T~
35 135 '

What is this number”
235 236 237 238
O O O O

There were 10 icecreams sold on Wednesday?
Icecreams sold each day Q

Monday

Tuesday

Wednesday

Thursday

Friday

Which is the most likely number of icecreams
sold all week?
31 50 52 57

O O O O
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Each cart carried a different load?

What is the combined weight of both loads?

kg

Which shaded shape has the greatest area?

\-
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The number 73 is covered by the rectangle.
Which number is covered by the circle?
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The number

is covered by the circle.

Each block weighs 20 grams.

How much do three tractors weigh?

1609

1809

120g

& 209

80g
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